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Q. 

No. 

QUESTIONS Marks 

1. Kapil has decided to start his venture in manufacturing plastic toys.He wants to get a 

road map for himself as to how to proceed and also wants to avail loan from financial 

institution. This requires him to prepare a Business Plan. 

Inorder to prepare such plan Kapil needs advice from: 

A.Doctor 

B.Teacher 

C.Lawyer 

D.All of them. 

 

1 

2. In 2018, Delhi court directed Chhattisgarh’s Sun Cable Network and Rajasthan based 

Brij Network to pay ₹ 20 lakh each to S – Series Pvt Ltd. for unauthorized broadcast 

of its audio and video copies on their cable network. The court also directed both the 

Cable operators to handover the audio and video tapes to S- Series. 

What intellectual property rights of S – series has been infringed here? 

A.Patent 

B.Trademark 

C.Trade Secret 

D.Copyright 

 

1 

        

Instructions: 

(i)All the questions are compulsory. There is no overall choice, though internal choice is given. 

(ii)Read the questions carefully before attempting. 

(iii) Questions No. 1 to 21 are very short answer type questions, carrying 1 mark each consisting of 

MCQs, Fill in the blanks, One-word answer, True/False. 

(iv) Questions No. 22 to 26 are short answer type questions, carrying 2 marks each. Answer to each 

of these should not exceed 50 words. 

(v) Questions No. 27  to 29 are short answer type questions, carrying 3 marks each. Answer to each 

of these should not exceed 75 words. 

(vi) Questions No. 30 to 32 are short answer type questions, carrying 4 marks each. Answer to each 

of these should not exceed 150 words. 

(vii) Questions No. 33 to 35 are long answer type questions, carrying 6 marks each. Answer to each 

of these should not exceed 250 words. 
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3. Mani Co. ltd manufacturers has three products: Pen, Pencil and Sharpener. 

 PEN PENCIL SHARPENER 

Total weighted average 

contribution per unit 

₹ 10 ₹ 12  ₹ 8 

Total fixed cost is ₹ 90,000.  

From the above given information Overall break even points in units will be: 

 A. 4,000             B . 2,000                C. 3,000         D. 5,000 

1 
 

 

 
 

 

 

 
 

4. Gross profit per unit is calculated by using the formula__________________ 

 

1 

5. The Research and Development department of ‘Healthy You Products Ltd.’ has 

decided to diversify from manufacturing health drinks to cereals made from millets. 

They are aware of the fact the company will have to communicate to the people the 

benefits of eating millets. To obtain favourable publicity and to build a good corporate 

image, they plan to sponsor talks by prominent nutritionists and doctors on the 

necessity of switching to heathy diets. 

Identify the promotional tool being discussed above. 

A.Advertisement 

B.Personal Selling 

C.Sales Promotion 

D.Public relations 

 

1 

6. It is an item that is outlined in the franchise agreement. Included are the types and 

timeframes regarding various maintenance items and upgrades that must be made to 

the location. 

 Identify the ingredient of franchise agreement referred here.  

A. Contract explanation 

 B. Proprietary statements  

C. Ongoing site maintenance 

 D. Operations manual 

 

1 

7. Harshit is the stock keeper of Sita Textiles Ltd. The company is into converting cotton 

yarn into fabric and then further printing on the same to add value to the fabric. He 

wants to know the ideal quantity of yarn to be ordered so that the production process 

does not stop.  

How can he know the correct time to place an order?  

A. By calculating Break-even point 

B. By calculating Re-order point  

C. By calculating Economic order quantity 

D. By calculating lead time 

 

1 

8. Karan was working with Tiya as a production Manager. For smooth flow of work, he 

had to pay attention towards various elements and to ensure predetermined quality of 

products; he had to compare the performance with established standards.  

The component of business plan discussed above is : 

A. Operational Plan 

 B. Manpower planning  

 C. Organizational plan  

 D. Appendix 

 

1 
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9. Asmit Started a pottery unit employing differently abled people to make and sale 

sculpture made of clay. He also made sure that the material he used is easily 

decomposable. During the month if September and October he increased the scale of 

production as the festival of Diwali was around the corner. 

Identify the component of business environment at a macro level that is reflected in 

the above situation to anticipate the demand. 

A. Economic  

B. Political 

C. Social 

D. Ecological 

 

1 

10. Soham has opened a grocery shop with an investment of ₹ 3 lakh. Out of this 

 ₹ 1, 00,000 was his own and the rest he borrowed from friends and relatives. At the 

end of the year, he earned a net profit of ₹ 40, 000. 

Which ratio will be higher? 

A. Return on Investment (ROI) 

B. Return on Equity (ROE)  

C. Both will be the same. 

D. None of these. 

OR 

 

The total bill in a restaurant during a week was ₹ 18,000. Though the food bill for 

individual customer was different but the average bill amount was ₹ 150. Based on 

this information, the number of customers who ate in that restaurant during the week 

is 

A.90                   B.100                   C.120                    D.140 

 

1 

11. Shreya started her small-scale business of making Pickles along with few of her 

neighbours using their free time at home. They named their venture ‘Home Sweet 

Home’. They were able to supply the entire district. One of the members suggested 

that they should expand and start selling to other states. When she discussed the same 

to her husband, he suggested that they have to properly look into the environment 

analysing the competition. 

The concept suggested to Shreya by her husband is: 

A. Formulate policies 

B. Tap useful resources 

C. Environment scanning 

D. Image building 

 

1 

12. Arvind and Avinav together took over their family business of furniture. They 

understood that the present competitors were using online means to sell their products. 

They decided on a new idea of providing furniture on a rental basis to offices and 

households and to also start making furniture using the traditional method which 

caught the attention of the new generation. They opened stores in various cities and 

started selling through online mode also. They both are using the service-related idea 

field.  

State whether the idea field mentioned is True or False. 

 

 

 

1 
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13. Fill in the blank. 

Sourav was always interested in technology driven products. After finishing his 

engineering degree, he started working on a new walking stick which will help blind 

people. The stick will be Bluetooth and Wi-Fi enabled which will be connected 

through an app on the phone which will guide the blind persons about 

the objects in front of their walking path. He has started testing the walking stick and 

found that the stakeholders were satisfied and it had a great value to the customers. 

Sourav is in .................. stage of innovation process. 

 

1 

14. TATA sell automobiles, groceries, soaps, software under the company name.  

Select the definition which correctly explains the above example. 

 

A. Entrepreneur opts to use a common or successful family name for their several 

products. 

B. Entrepreneurs choose to utilise their corporate name or logo together with some 

brand names of individual products. 

C. Entrepreneur uses alpha-numeric names to signify physical characteristics of the 

product. 

D. Entrepreneur chooses distinct names for each of his offerings. 

 

OR 

 

Which of the following is the consumer sale promotion activity? 

A. Loyalty reward programmes 

B. Seminars and workshops 

C. Event Sponsorship 

D. Bonus Stock 

 

1 

15. Given below are types of mergers with examples of each. Match them correctly. 

Column A- Types of Mergers Column B- Examples 

i. Vertical Merger a. A sweet manufacturer from 

Kolkata merged with another sweet 

manufacturer from Guwahati. 

ii. Market Extension merger b. YES Bank Ltd. merged with 

MobileCom Tele ltd. 

iii. Conglomerate c. Captain Tea planters merging 

with Flavour Tea planters. 

iv. Horizontal Merger d. Mahinder Motors merge with 

JISCO Iron & Steel Ltd 

 

A. i-a ,ii-b ,iii- c ,iv-d  

B. i-d ,ii-b,iii- a ,iv-c 

C. i-a ,ii-c ,iii- b ,iv-d  

D. i-d ,ii-a ,iii- b ,iv-c 

 

1 

16. Farhan sold a mobile hand set for ₹ 2,100. If the purchase price of the product is 

80% of its selling price, the profit earned by Farhan is : 

 A. ₹ 1,700         B. ₹ 1,680           C. ₹ 420            D. ₹ 400 

 

 

1 
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17. Fill in the blank.  

At times, we have people that have money that they don’t want to spend rather save 

for the future use. On the other hand. There are people who want to spend money to 

undertake some economic activities but don’t have the required amount of finance.  

Thus, the role of transferring financial resources from the surplus units to the deficit 

units is called as ______________.  

 

1 

18. 

 
 

 

Identify the promotion strategy shown in the image above.  

A. Above-the line  

B. Below -the-line  

C. Through-the-line   

D. None of these 

 

1 

19. In the academic year 2020/21 due to COVID 19 all the schools started online classes. 

Many parents were worried about monitoring their children as they have to go to their 

workplace.  

Being a talented and an intelligent student Ritesh decided to develop an app that may 

help the parents to keep a watch on the children and their activity during the online 

class. 

From the following identify the “idea field” used by Ritesh to develop the app. 

A. Creative efforts  

B. Trading related ideas  

C. Market driven idea  

D. Natural resources 

 

1 

20. UCL Ltd., has been manufacturing cycles since 2010. Their market share in this field 

is 35%. They decided to introduce new cycles with advanced gear systems in 2015. 

For the same they estimated their financial requirements to be ₹ 20 crore. They 

decided to raise the same through a limited number of sophisticated investors₹ 

Identify this kind of issue? 

A. Public issue 

B. Private placement  

C. Offer to employees  

D. Right issue 

 

 

 
 

1 
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21 

 

 
Identify the type of Advertising media depicted in the above image. 

A. Point of Sale 

B. Ambient 

C. Outdoors  

D. Cinema 
 

 
 

 

 
 

 

 

1 

22. Balwant Rai always introduce something new in the market, he is very creative person. 

He always takes care about safety of security of customers as well as his employees. 

He developed a design of a balcony garden “MERA KHET” with the training of how 

to produce fruits, vegetables etc. in own balcony. 

Since he did not get any financial support from any bank, he approached Nirvana Vent 

(VC), a venture capitalist firm. Though VC liked the idea but it refused to help 

Balwant Rai at the seeding stage and asked him to come again if needed during second 

round financing. 

Why was seed capital not given by venture capital (VC) while it was ready to fund the 

second round financing? 

 

2 

23. 

     

Source based question 

Source - Entrepreneur magazine - August, 2020 

A recent survey conducted jointly by FICCI and Indian Angel Network revealed that 

70 percent of start-ups across the country have been impacted by COVID-19 while as 

many as 12 per cent have had to halt operations altogether. 

These are difficult times that no one was prepared to deal with. The prolonged 

lockdown had a massive impact on the start-up ecosystem. Given that they rely largely 

on a constant flow of capital and investments, which due to the pandemic came to a 

complete standstill. With the ongoing crisis, to keep start-ups afloat has become quite 

a challenge.  

However, this challenge can be eliminated if entrepreneurs adapt to the current times, 

adopt new strategies, and are open to experiments and pivot their business plans. 

That’s because the pandemic has not only affected our present but also our future. 

Keeping in mind this article, state any two things which should be written by start-up 

companies in their manpower planning component of business plan? 

 

2 
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24. Nippo Ltd. was into manufacturing security cameras for household and commercial 

buildings. Their Research and development team came up with a new idea of 

manufacturing drones as security cameras which will give a 360-degree view of the 

entire building. They needed huge finance for the same. The company MD Sharad 

heard of this group of venture capitalists who are ready to invest in new ideas. He 

seeks an appointment with them and started preparation of a business plan to be 

presented before them. His plan was to make an informative power point presentation 

showing key graphs of financial trends. It was meant to trigger discussion among the 

member₹  

(i)Which format of business plan is Sharad using? 

(ii)State and define one more format of business plan other than the format identified 

in part (i). 

 

2 

25. State any two factors involved in the process of sensing opportunities. 

OR 

State any two elements of business opportunity. 

 

2 

26. Calculate EOQ from the following information:  

Annual quantity demanded 240 units, cost of placing an order ₹50, and inventory 

holding cost ₹6. 

OR 

Calculate net working capital from the following information: 

Stock ₹1,00,000 ,Trade creditors ₹64,000, Cash ₹2,00,000, 

Bills payable ₹ 1,00,000, Short term loan ₹ 30,000. 

 

2 

27. 

 
(i)  Name the component of product depicted in above image. 

(ii) State any two purpose of the component identified in part (i) 

 

3 

28. Sachin, a third year, electronics Engineering student, designed a  smart biometric 

doorbell that analyses the fingerprint of a person and matches it with the store 

fingerprint database to categorize the person as a home member or known guest or 

unknown guest. When it detects a home member, the entrance door automatically 

opens, while it alerts the people within with voice messages. Sachin is convinced that 

his prototype can prevent crimes but is unsure of its market acceptance. 

He also realised that it would require ₹5 crores to manufacture and distribute it 

commercially. He approached some affluent individuals who were ready to provide 

capital for this business start-up in exchange for convertible debt.  

 

Identify the type of investors and state any two features of the same. 

 

3 
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29. Briefly explain the last three steps of the Creative Process. 

OR 

Briefly explain the first three elements of the Innovation Process. 

 

3 

30. Sikandar & Sons started manufacturing oximeters which has a great demand in this 

time of Covid 19 for domestic use and otherwise also it is an equipment in demand by 

the medical professionals. While fixing the selling price for the same Sikandar want 

to adopt a method where he can just cover the cost and earn a nominal amount of 

profit. His sons advised him to fix the price initially at a higher rate and then reduce 

the price when the demand has reduced. According to them this method would help 

them earn a good profit. He hired an agent, Satish, who advised him to initially keep 

the prices low to attract the market and then he can slowly and gradually increase the 

price. 

 

In the given context answer the following questions; 

a. Identify pricing method that Sikandar is planning to adopt. 

b. State one advantage of the method identified in (a). 

c. Identify the pricing technique suggested by Sikandar’s son. 

d. State one disadvantage of the pricing technique identified in (c). 

 

4 

31. In addition to ‘number of persons’, ‘profit sharing’ and ‘agreement’, there are various 

other features of partnership.  

Explain any four such features. 

 

4 

32. Ritesh Aggarwal is working as a CEO in a reputed company having head office in 

Bhubaneshwar. The company is following a dynamic approach and thus keeps 

launching innovative products in the market. He knows that the shares of his company 

are not freely transferable. The company is also concerned about its employees and is 

offering them good working conditions along with other non-financial benefits. As 

the company was able to earn a good profit it has declared a dividend of 10% for its 

shareholders and transferred residual profits in reserve. 

 

On the basis of the given information, answer the following questions: 

(a) Name the type of company mentioned in the above case. 

(b) State any three differences between the type of company identified and the other 

type of company. 

 

4 

33. Akash India Ltd.’ is the manufacturers of water purifiers. The company has developed 

a new water purifier that not only converts the hard water into soft water but also kills 

the bacteria and other harmful microorganisms present in it. The company has named 

this water purifier as ‘Patal Neer’ and for its marketing, appointed salesmen 

throughout the country. The company also trained the salesmen to provide information 

about the usefulness of the ‘Patal Neer’ water purifiers to the customers and motivate 

them to buy the same. The company is also trying to build good relation with the 

stakeholders building a good corporate image. Akash India Ltd. has also opened their 

own retail store in Delhi to distribute the product. 

(i) Quote the lines and identify the types of promotion mix adopted by the company. 

(ii) Identify the type of distribution channel used by the company. 

(iii) Discuss any three advantages of using such channel of distribution. 

 

6 
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34. Explain the relevance of scanning the environment  for a business enterprise. 

OR 

Explain the various factors involved in assessing the market while selecting a 

product or service? 
 

6 

35. Varsha started her herbal beauty products shop in Chandigarh with a capital of  

 ₹ 9,00,000. She took a loan of ₹ 5,00,000 from the State Bank of India at 9% p.a. 

interest. During the year ended 31st March, 2020 her sales were ₹ 20,90,000 and the 

cost of goods sold was ₹ 15,30,000. She paid monthly rent of the shop ₹ 11,000 and a 

monthly salary of ₹ 25,000 to the employees. The tax rate is 30%. 

Calculate the Return on Equity and Return on Investment. 
 

6 

 


